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1) ‘Dhingla’, ‘Bhidariya’, ‘Nathdwariya’ are :-
1) Copper coins in circulation in mewar.

2y Carpet in mewar.
3) Women’s headgear in mewar

4) Names of revenue taxes in mewar

D) g, dsfar, quaefar & -

1) #arg § wates af9 & s ) HaTE & Eh uRdl § W
3) HEE & AR & A 4) 9913 & TS H H W
2) In which site of Civilization has been found a eleven roomed large building?
1) Kalibanga 2) Aahar
3) Balathal 4} Bairdth
2) e HE A e wae o & e war wa § R a8t
1) FrRET 2) aeE |
3) ST 4) W
3) Wﬁo was the author of the books ‘ Vaidac Sar’ and * Pooja padhathi’?
1) AjithSingh . 2) Abhay Singh
3) Jorawar Singh ! "~ 4) GajSingh
3) e g g valy gas ® @ e a6y
1) ora g 2) g fiE
3) 9INER fHe 4) T s

4) What were ‘ Matak’, ‘Vichayat’, Chu-Sarai*?
1) The names of local taxes in Rajasthan
2y The names of regional cloths in Rajasthan
3) The names of agricultural implements
4y The local names of irrigation patterns

4) wew, Fow, g-aug & a?
1) R § e w0 % AW
2) o o g9l ewgl & e A
3) Pl g & AW
4) Ry % @l & el A
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5} Whe e are the Havelis of * Bachawato’, ‘Rampuriya’. ‘Gulecha’, ‘Sethiyas’ located in Rajasthan?

1) Jaisalmer 2} Sikar
3y Jodhpur 4} Bikaner
5) memrger, TEYRA, eow, AiSdr & safeEl Towem § dar g €7
1) SEeEy 2y i
3) WU 4y AT

6) The oldest Pattern of ‘Bhumijis style” of temple construction in Rajasthan 1s :-
1) The Jain temple of Sewari in Pali district '
2y The Bhand dewara temple of Ramgarh
3) The Maha Naleshwar temple of Menal
4) The Somnath temple of Dungarpur -

6) wora § R J§Y @ wEd W AR 57
1) e e E gEEl oF Al 2) I H WU T °iET
3) HAT & HEFRIE "y  4) ZUTR H WHAY AR

7) Which saying is not true regarding sant Jasnathji? | e
1} He was born in 1482 AD in Katriyasar village in Bikaner.

2) He meditated for twelve year’s in Katriyasar

3} He ook ‘Samadhi’ in Katriyasar in 1506 AD :

4} His teaching are collected in * Sindhudhara’ and Kondd Books
7) Ha T W % R § S s w2

1) mmmszééﬁﬁv%wﬁwrﬁaﬁgﬁm
2) Fanara? ¥ 3= 12 99 9% T 5 |
3} 1506 3. #, z5 sangray § gy & |
4y T wme RigEer’ T g S v F a3

8) The Iiustrated * Shrawak Pratikraman Chuemnt’ mdnuscrzpt is m Wthh style of Rajasthan‘? o

1) Marwar 2) Mewar
3) Kotah 4) Dhundbar I
8) “airas whmsm of e fafye gw T H T ST | B2
1) mrars 2) Hars WA R B
3) i 4) TEE SR I
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9) Which code does not match?

Author Book
A} Matiram - Lalit Lalam
B) Narharidas - Awiar Charitra
C)y Dayabai - Daya Bodh
D} Somnath - Sujan Charitra
A 2) B
B ' 4 D
9) ¥ g ghferm wé 7
A) wHftRm - A weEm
B) wesiem - AR ARE
C) & -
D) wrany - gaE aia
1y A ' ' 2) B
»C S 4D
10) When is the Festival of ‘Jaljhulani - Ekadashi” Celebrated in Rajasthan?
1) Aashwin Shukla Ekadashi o 2) Kartik Shukla Ekadashi
3) Bhadra Pad Shukla Ekadashi 4) Shrawan Shukla Ekadashi
10) wrengerdt CepRelt Wi TORAW N F9 WA T 87 |
1) snfea o weresht 2) wifdeE gae UmEel
3) WIKTE gEe wEeEsh 4) NG JFA THE
11) Which code does not match?
Handicrafts . ' ~ Place
A} Horse’s of Mamaji - Basantgarh
B) Dabu print - Akola
C) Lakh Work .- Laxamangarh, Indragarh
D}  Azrak Print - Barmer
A 2B
3 cC h 4) D
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11y e oo gufee @ E7
HETRT M
A) W % R - FEETE
B) &g e - 3TRET
C) @ w E - TR, TEE
Dy s R - gIEEY
1y A 2) B
3HC 4D

12) “In India Thakur Kesari Singh Barhath is the only person who to eleminate the chain of Bondage of
mother India, Plunged his entire Family in the Freedom Strugle,”” who made this statement?
1) Mahatma Gandhi 2) Ras Bihari Bose
3} Subhash Chandra Bose 4) Sardar Patel

12) W § U 4 g7 heiifE aRes UY =l € R I A1 ) AT & SEensl # s
% fom aroe o9 aRer ® WOa 96 °§ SiE a3 wue hed @ ¢ :

1) HEw 2) TEEEd 9"
3) AW 9% aH 4) TER T
13) The Nehru Saviet lrand award for the Rajasthani translation of Russian story “Gajban” was given to
whor#? P Y
1) Mangat Bada]., NS, _ 2) Komal Kathan _
3y Vijaydan Detha . . 4) Laxmi Kuman Chundawat _ :
13) weft sl & ORI SHgdTE, T % feg i e ee guenr, fel feay ‘“1?1??
O REGEE 4) sl gt TR
14) In which year did Govemnor - General Bentinck organised a Darbar of local ruier‘?
1) 1832 AD oo 2) 1834 AD
3) 1829 AD " 4) 1830 AD
14) Ty s AT 4 et H S el % awER e et Bear?
1) 1832 £, 2y 184 £
3) 1829 4) 1830 .

10 - o 6




JCD

& 15) Who established the “Dholpur Prajamandal?”

1) Krishna Dutt Paliwal 2) Master Aadityendra
3) Trilok Chand Mathur 4) Amrut lal Payak
| 15) gy SRS @) o feee i
E ) 3w o uetEw 0) AR RS
3) P o= A 4) AN qAE
16) Who led the movement of “Shekhawati Jakat Andolan”
1) Pt Narotam Lal Joshi 2y Pt. Todarmal
3) Pu Ram Karan Aasopa 4) Pt. Abhinn Hari
16) “Sramadl Wy I H 99 B
1) . e @ S 2) 1. P
3) Y. THSOT HEGT . 4) 4. #fw= 5
17) At the time of Independence in which category as per Indian Constitution was Rajasthan placed in ?
1) First Category ' 2) Second Category
3y Third Category 4) Fist and Third Category
17) st & wmg JomerE ooy Rar didus & eman feg gl @ are
1y s Sy 2) &da g |
3) et S 4) e ud i Ao
18) To rouse Social and Political awakening in Rajasthan when did Swami Dayanand first visited
Rajasthan 7 '
1) May 1866 2) July 1872
3) June 1865 4) SeptemberA1869
18) wmifoie wd UwAics daw & g @l sarre 3 ITRm # 9Ee 9En o9 #Y
1) % 1866 2) guTE 1872 |
3) 9 1865 . 4) TaE=T 1869
19) Who set up the “Arya Samaj” in Mewar?-
1) Vishnu Lal Pandya : 2) Radha Krishna Sharma

3) Gopinath Sharma *4) KanhaiyaLal Jadam
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19} #ars 5 3 qAT I AT BT &7
1) o diE
3) T g
20) Which code does not match ?
Stage of Unification of Rajasthan
A) Third stage -
B) Fourth stage -
C) Fifth stage -
Dy Sixth stage Co-
A
3y C
TSR UHIEA & T -
B) =gy wu X
C) 999 a7 _ ;
D) WA W . -
1) A
3) C

2) TR gl
4) A A e

Date

18 April, 1948
30 March, 1948
15 May, 1949
26 January, 1950

2) B
4y D
uhiE f&HiE
18 10w, 1948
30 W, 1948
15 52, 1949
26 FEEd, 1950
2B |
4) D

21) Length of International b(igndary of Rajasthan state. is -

1) 1,070 Kilometres
3) 1_7,869 Kilometres
21) TorE U # S i B @ § -
1) 1,070 feeidies - -
3) 1,869 fepamieR

22) Tropic of Cancer passes through which-of the following districts of Rajasthan ?

1) Banswara and Udaipur

3) Banswara and Chittorgarh

2y 4,850 Kilometres | |

4) 5,920 Kilometres

2) 4,850, freeder -
4) 5,920 frerier

2) Banswaraand Dungarpur

4) Udaipur and Chittorgarh- |

22) ®% @ qere & i & F e fomt @ S o @0

1) digEnE u§ ey
3) dEEE e e

2) “iEEE U TR
4) vEaq g REiEe

10 - 43
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23) Presently the Aravalli mountains exist as -

1§ 24) T # iR @ er fm § - ,
N Hfsve 3T - ST B A ) : S |
2) PG - TR &
3) WAEHE - YA & 9

1y Folded Mountains 2y Accumulated Mountains
ﬁ 3} Residual Mounatains 4) Block Mountains
- 23) FeEE A swrEen gdd fewr € -
1y e oo B w A 2y HEE wdd % w A
3) AT YEEl & w9 o 4)Wm%mi‘r _
' 24) Bhorat Plateau in Rajasthan is situated between - ';53:
1) Mt Abu and Ambamata 2) Kumbhalgarh and Gogunda -
3) Jaisamand and Pratapgarh 4) Bhensroadgarh and Bijolia _
i

4) e - e & |
25) Inlocal dialect steep sloppy rugged hills in SII‘Ohl district are called -

1) Chappar . . 2) Bhakar "

3) Girwa i 4) Dang X |

25) ferirt o # i g wsAEs veifedi ) iy s @ - |

1) s 2) HepY |

3) Frar 4) B
20) Wakal, Watrak, Meshwo and Hatmati are the tributaries of which of the rivers 7
iy, Mahi, | . 2) Jakham

3) Sabarmati 4) Som
26) AT, o, AeAl o suwdl feue dere e €7 R IRINY

1) wrE ' C o 2) e GHE
27) Winter rain in Rajasthan is caused by -

1) Retreating Monsoon - .2y South - West Monsoon

3) North - East Monsoon 4) Mediterrancan Cyclones

10 - o 9
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2) aftr-afyes qEEE §
4) JHEITIE whar

28) Vertisols is not found in which of the following districts of Rajasthan ?

1)} Jhalawar, Baran

3) Bundi, Banswara

2) Kotah, Bhartpur
4) Dholpur, Karauli

28) getary el o & Freateia § & e el § 38 o -

1) oS, gul
3) 94, siwars

28) Which one of the following forest types extends over the largest area in Rajasthan ?

1) Tropical deciduous

2) WET, WYL
4) AL, HE

2) Mixed deciduous

3) Sub - Tropical evergreen 4) Dry Teak
29) f=iifea § & B9 99 T § TEis 9% § ol gu 87
1) SorEReE e 2) PiE EREE
3) QT geEEr 4) I "
30) At what place is the wood fossil park located in Rajasthan 7
1) Gadisar | 2) Akal
3) Tanot 4) Lodarwla
30) 1™ W SEed SEM (wood fossil park) e w ut fga £7
1) T 2) STk
3) aE 4y @vsE
31) On the basis of Geo-climatic evidences approximately how many years back desert dxd not exist m
Rajasthan ? '
1) 1,000 2) 7,000
3) 10,000 4) 25,000
31)amm%mwméwmﬁﬁwwﬂwwmﬁrw
1) 1,000 2y 7,000
3) 16,000 4) 25,000
10

10 - ozo
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32) Which one of the following i the smallest agro-climatic zone in Rajasthan in «erms of Area 7 -

1) Humid South - Eastern Plain
2) Humid Southern Plain
3) Imigated North -Western Plain
4) Flood - Prone Eastern Plain
32) &A% & gte § e ¥ ued g $f-awany wus e 27
1) o s - e e
2) e efal dee
3y TR feri o - qﬁmr?r é%sr
4) 9 gl @t | | |
33) Soyabean in cultivated primarily in which of the Agro - Climatic zones of Rajasthan ? L
1) Flood - Prone Eastern Plain | e
2) Sub-Humid Southern Plain
3) Humid South - Eastern Plain
4) Dirigated North - Western Plain
33) drdi w O TeEE % W g oeaR wvs d ggem § @ omt 87 T e
3) o o -t e 4y Fifem e - ol dmw s

34) Tharparkar breed of cows is found in which of the following districts of Rajasthan ? -

1) Barmer and Jaisalmer K

2) Ganganagar and Hanumangarh - _ DT R HHLT B

3) Jalor and Sirohi : St e :

4) Ajmer and Bhilwara R B AT
34)%%@%?@%@%@615[%%%3%&%?

1) TEH Td HAHAN L. 2y WIFR ud ggHETe U

3) SN Td e S 4) FFR W AT o e o
35) Maximum part of net irrigated area of Rajasthan is irrigated by which of the foliowmg soumﬁs

(2013 -14) 7

1) Canals © 2) Tanks

3) Tubewells 4) Wells

10 - ‘:’ 11
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35) 7T ¥ 9 R drew w1 e, i SRR A R e 4 Rif g R Q013147

1) W&t 2) arng
3) g 4) FAt
36) Which of the districts of Rajasthan are benefited by Jai Narain Vyas lift of Indira Gandhi Canal ?
1) Jodhpur and Bikaner 2) Bikaner and Nagaur ' ,
3y Jodhpur and Jaisalmer 4) Bikaner and Jaisalmer _ 1
36) sy e e A sraTE wy e & T A R AT £
1) WUE TF S 2) AR A
3) SR U S 4) ST T S
37) Which one of the dams built on river Chambal is pot located in Rajasthan State ? e
1) Gandhi Sagar 2) Rana Pratap Sagar
3) Jawahar Sagar 4) Kota Barragé
37) T 1w A dee sty o o § Raa ol 82
1) T AR | 2) IO U G
3) WA |R - 4) ®E IO
38) The shortest Natiogal Highway ‘with in Rajasthan territory is -
1) NHNo.71B 2) NHNo. 79 A
3) NHNo.11C 4) NH No. 3
38) e e ¥ aed B aa aeEr § - |
1) T A GEn 71 B 2) TSR T HE 79 A
3) T TEE ger 110 4) ICH A = 3
39) Gudhé_ - Kishoridas and Chouth-Ka-Barbara are famous for the.mnining 6f -
1) Leadand Zinc .2') Copper
3) Iron - ore - 4) Manganese
39) TErRFARIEE ST g B @ R sl § e €
1) € ud o 2) e
3) e - ¥ 4) Fri

10 - o3 12
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40) Minerals in production of which Rajasthan holds almost monopoly ir the Country -

1) Wollastonite, Garnet 2) Granite, Marble
3) Felspar, Gypsum 4) Lead-Zinc, Jasper
40) @i T e § T o1 29 § @ UsiuEr 8 -
1) dREEHEE, AEEl 2) INEE, HEREY
3y Weury, fem ' 4) TS, SR
41y Lime stone rock falls in the category
1) Igneous ‘ 2) Sedimentary
3) Met’émor;jhic' ' ' 4y None of the above
41) Lime stone %1 SiH207 (991 v &1 2
1) I (Igneous) 2) a@wél (Sedimentary)
) FarFIa (Metamorphic) : By THIE N N Al
42) The efflorescence is said to be moderate in bricks if salt deposits cover ---------- surface area
approximately
1) 10% S 2) 20%
3) 30% : .4y 50%
42) gei § 9 efflorescence & BHBI0T TOE T, AT —- oo SHE THT BT B
1y 10% ) : x 2) 20% -
3) 30% L 4) S0%
43} The percentage of impurities in fat lime is less than
1) 5% S 2) 10%
3) 15% 4y 20%
43) 9E TH | arggEar wmr ey Feifiga 9 s BRr B
1} 5% 2y 10% - . Lo
3) 15% Ay 20%
44) Which of the following cements is recommended for under water construction ?
1) Portland Cement 2) Puzzolanic Cement -
3) Sulphate resisting Cement : 4) Quick setting Cement

10 - «» 13
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44) Tr=rifeea 4 o S Ol U & oigr Tt 39 s el
1) diéevs wife
2) W (Puzzolanic) H1HT
3) dvhe whadHr dWe
4) g TR A e

45) Water Cement ratio to determine compressive strength of cement is taken as

1) 0.2 2y 0.3
3) 04 -4y 05
45) e &1 qire g (compressive strength) FEY 8 ot ud Wide w1 agu 9F ¥
1 0.2 2) 03
3) 04 4) 0.5
46) Which of the following has maximum percentage in composition of Cement
1) Silica - 2) Alumina
3) Lime 4) Suiphur
46) Frifra F & die § sifuman wRIeE (percentage) &1 ¥ |
1) fofE - C 2y vl
3) IW . Y 4)
47) The core of cross section of an exogenous tree is called
1) Sapwood 2) Pith
3) Heartwood 4) Inner bark
47) Exogenous & % SIS HT (cross section) & FH= core § &l &l
1) ¥Igs 2) fuy
3) ¥CTS 4) wiEtE B
48) The ductility of bitumen is expressed as '
1) Time 2y Distance -
3) Speed ' 4}y None
48) g & FENe S R % |
1) T 2) &h
3) 4) TuIRs ® Hig A€

10 - &% - 14
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49) The maximum size of aggregate for Marshall test shrll be

1) 1.5mm 2) 2.5mm
3) 3.5 mm 4) 45 mm
49) At < F ST s 6 Uit W H @ g €
1) L5 mm 2) 25mm
3) 3.5mm 4} 4.5mm
50) The softening point of various bituminous grades in (degree centigrade) for payving jobs vary between
1} 10-20 2} 20-30
3) 3570 4) 70-100
50) fafie fagfe I & 3@ A 29 softening point MW7 4@ § &0 % 1
1) 10-20 2) 20-30
3) 35-70 4y 70-100
51) What shall be the ratio of modulus of elasticity to shear modulus of a material havmg poison’s ratio
of 0.5
1) 3 ' 2) 1.5
31 4y 0.5
52) A cantilever beam is provided with a vertical prop at its free end. Its static indeterminacy will be:
1) Increase:i by two 2) Decreased by one
3) Increased by one 4) Remams unaltered
53) For pure bending of a beam; which one of the following equation is valid {or its ana!yms ‘?
n M_E_J y M _E_J
I R y Z R vy
y M_L_ S HM_Z_ |
Efl R vy R y 1

where M: bending moment; I: moment of inertia; E: modulus of elasticity; f: bendmg stress ata
distance y: from neutral axis; R: curvdture; Z: section modulus

54) A simply supported beam of a span, L is subjected to a point load, P at its mid-span. The maximum
deflection induced will be:

1y P 2) PL
96El 24E1
3y Pr 4 PL
4A8ET 8EI

where El is flexural rigidity

10 - o 15
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55) Area moment of inertia of a circular section of diameter ) 15

b oA 2 A
32 32
B 4 D’
64 64

56) A cantilever beam of a span L, 1s subjected a moment, P at its free end. The bending moment induced
at its support wiil be:

1) p/4 2y P3
3y P2 ' 4) p
57) Radius of gyration of a column section having moment of inertia, I and cross sectional area A is:

INENES 2) J1a
% o

3) VA 4) 1A

58) A C(}iﬁmn pinned at both the ends has length L and flexural rigidity EI can carry a critical load of:

1} 47°El 2) 27°El
I A
3) 7Kl , 4y 7' El
Uk ar’

59) If width of rectangular cross section beam is increased by ten folds and keeping cross sectional area
unchanged then maximum shear stress will be : "

1y Increased by 10 times 2) Reduced by 1/10%
3) Increased by five times | 4) Remains unaltered
60) Static Indeterminacy of a beam fixed at both the ends is :
I} o 2) 3
3 2 4 1
61) The fundamental principle of surveying is to work f rom the .
1) Whole to the part ' 2) Parf' té fﬁe whole B
3) Lower level to higher Jevel 4 Higher lével to lower level

61) gderor & go el & o9aR e s B -
1) YUl |E el W sl et
2) ASE AR WYW W @ AR
3y TEd W W 90w # o
4) Suh w4 Pee e a i

10 - % 16
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i1 02) When the curve is 10 be set out over a rough gre nd, the method used is

1) Two Theodolite method
3y Tacheometric Method

1) & fE=enge faf
3) e faf

1) 39.098 m
3) 39098 m

1 63) A light house of 120m height is just visible above the horizon from a ship. The correct distance (m)
between the ship and the light house considering combined correction for curvature and retraction is

2) Rankine method
4) either (1) or {3)

13 62)GI?IUEE@?ET(W)”ﬁﬁ%ﬂﬁﬁmﬁmﬁmmﬁﬁﬁﬁmﬁﬁﬁﬁﬁr%-

2) e R
4) (Iy= (3)

2) 42226 m
4) 42226 m

63) 12091, &1 U @ UF Wyl WY, v A § i e s e w0 Sw o vd vyt Wiy
& dra 1 gl (1. H) feerl €, afe w v adw w dgas delies @ e § | S -
1) 39.098 T 2) 42.226 9

3) 39098 i 4) 42226 5

64) Two straight lines intersect at an agnle of 60°. The radius of a curve joining the two straight lines is
600m. The length of long chord and mid-ordinates in metres of the curve are

1) 804, 600.0 2) 600.0, 80.4

3) 600.0, 39.89 4) 49.89, 300.00
64) aﬁm%@m%@aﬁém%wmmﬁ%fswﬁzﬁ“ﬂi@aﬁ@%%m%%ﬁﬁmwo
d1. & 1 38 9 @1 O Sl 1 e aeg gt w a0 d e - -

1) 80.4,600.0 2) 600.0, 80.4

3) 600.0, 39.89 4) 49.89, 300.00

65) In a closed loop traverse of 1 km, total length, the closing errors in departure and latitude are 0.3m
and 0.4m, respectively. The relative precision of this traverse will be

3

1) 1:5000
3) 1:2000

2) 1:4000
43 1:3000

65) 1 T, @ g s & e dgw e 8, yoid ud saier & de g @ mae 0.3 A

g 0.4 . B | §W A whw &) ureiies uRge e e
1) 1:5000 C2) 1:4000
3y 1:2000 4y 1:3000
10 - oo 17
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66) The value of magnetic declination of magnetic bearing of £ m at noon is 350°, is

) I0E 2y 10°W
3) 80°E 4) 80°w
66) afg ez | gd &y gedia Bearr 35008 @ o9 wwg s R @ g e B -
1) 1°E 2) 10°W
3y 80°E 4) 80° W
67) Three - point problem can be solved by
1) Graphical method 2y Tracing paper method
3) Trail and Error method 4) All of these
67) Bifeg waen fea Y oro ea & oy gl & -
1) rar fei Rl 2) sEm 9 [ ’
3) a1 9 e ffy 4y wugE wedl
68) Instrument used for measuring area on a contour map is
1} Arcameter 2) Clinometer
3) Planimeter | 4) Graphometer
68) grrea AR &7 4% WA B % (00 HIE I0E0 & | forn amen & -
1) &3 A ' ' 2) wieEdq
3) wrinder 4) ¥VE A
69) Every 20m chain should be accurate to within ' '
1) +8mm 2) +2mm
3) +5mm 4) None of these
69) 20 4. &t vl wha few den 7 uRegs 9 afn
1) +8mm 2) +2mm
3) £5mm : 4) wdw # 9 i wE

70) If éross sectional area of an embankment at 30m infervals are 20, 40, 60, 50 and 30m” respectively,
then volume of the embankment on the basis of prismoidal rule is

1) 5300m? 2) 8300m?
3) 4300m° 4) 6300m°
IO - .0’ 18
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70) 300, % Heniar O W deEY HI ALY EHA FAL: 20, 40, 60, 50 v 30 =i A ® 1 wiigea fafy
% ATHET 39 deay Bl R (thar £Rn?

1) 5300 & 2) 8300 4P
3) 4300 =P _ 4) 6300 7
71) The item of the brick structure measured in sg.m is
1) Broken glass coping 2) Brick work in arches
3) Reinforced brick work - 4) Brick edging
71) de @YE & SFeN W A AL H A AW € -
1) T gu Mg & wiftn 2) e ¥ g & &
3) wafod €& @ &M 4) gT &
72) The correct order of booking dimension is
1) Length X Breadth X Height 2) length X Height X Breadth
3) Height X Breadth X Length ~ 4) None of the above
72) W, e e @ et B wd - S5 |
1) we X drer X gay 2) TS X S X drer
3) FUE X AEE X =g 4) IFH § ¥ ®E T

73) During prepasation of a estimate, following factors are considered

1) Availability of material

2) Location of site

3) Location and availability of Labour
4) All the'above

73) wep AW g o, B9 0 8 aedl O @ e § @ 9§ -

1) A BT I 2) Tl M @ 9
3) W R =fE @ SyEer 4) THE T
74) One mason in one day is expected to do the brick work in foundation and plinth with beldars are
1) 1.00m’ 2) 1.25m°
3) 1.50 m? 4) 1.75m°
74) e deER % ae Peer um e, 1w B § S od fy § 69w ge % e e @ e afg
1) 1.00 g7 7. 2} 1.25 u¥ .
3) 1.50 74 o, 4) 17557 9,

19




JCD

75) The most reliable estimate is

1) Detailed estimate 2) Preliminary estimate

3} Plinth area estimate 4) Cube rate estimate
75) " fayagE SEH § -

1) Toege oA 2) WS S

3y T A I 4) 1 & FFAH
76) The standard light of the standard rain gauge is

1) 60cm 2) 50cm

3) 40cm 4) 30cm
76) RHEE g9 TS B GG o A £

1) 60cm 2) 50cm

3) 40cm R 4) 30cm

77) If the intensityof rainfall is more than the infiltration capacity of soil, then the infiltration rate will be
1) Equal to rate of rainfall ‘ |
2) Equal to infiltration capacity
3) More than rate of rainfail-
4) More than infiltration capaeity - -

77)%6@%13%@%%#%@%%%3 ﬁ?ﬁwaaﬁ?rfﬁ

1) =ui & 3 & qqa 2) Rom gea & S

3) oo @ & & o 4) Feam o F o
783 Humidity refers to

1) Temperature of air By ) Pressure of ait

3) Moisture content of air | 4) Volume of air

78) awedr yiud ®iar &

1) arg % wuEt s 2) 9 At #

3) Y HeAT B 4) I & AT B
79) Kharif crop sown in

1) InJune - ) In'September

3) In October - November 4) None of the above

10 - « - 20
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79 e waw 91F o1 #

1) A 2) ThEer §
3) WeaEEy - At 8 4) 3o%Ed § § @ &
80) If in the harvest season when the river flow in low which method should be adapted for irrigation
1) Direct Irrigation 2) Storage Irrigation
3) Lift Irrigation 4) Irrigation by wells
80) aft wuer & Arm § 49 T gEry &9 € qy {HaE % Wo S G s afd
1) sEEe gl 2) wos g
3) e RYE 4) FC ® g A
81) A channel designed by Lacey’s theory has a mean velocity of Im/sec. The silt factor 1s unity. The
hydraulic mean radius will be ‘
1) 25m 2) 20m
3) 15m 4y 05m

81) &4 % fuguia & oM W FE T qw ¥ g vEE A lmdsee. R pois uw BeEE

1) 25m _ 2) 20m
3) 15m o 4) 0.5m _
82) According to _I_(a:nnedy’s theory for channel design what thing of channel should bé known ?
1} Width 2) Depth
3) Length 4) Both (1) and (2)
82) TEr frgia & oigaw S feumEd % g 99w @ #n s el iy
1) e | 2y e
3) waT 4y (1) 9 (2) &
83) The difference in level between the top of a bank and supply level in a canal is called
) Berm | 2) Height of bank
3) Free board ' 4) None of above
83) e w=Y % 9T & I ot gl wer a@ % 4y Sy w1 e A €
D = | & 2) T H FaB
3y i | 4) swiER ¥ A W
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84) A deep well
1) Is always deeper than a shallow well
2) Has more discharge than shallow wel}
3) Is weaker structurally than shallow well
4) Both (1) and (2)

84) um T Folt
1) wF SR P Y eHen e €k § |
2) @ T UE Sl U § e g % |
3) UE TUW P § UEENES Y § FEAH O §
4) a1 () R ()

85) The yield of a well dépends upon
1) Permeability of soil
2) Area of aquifer opening into the wells
3) Actual flow velocity ‘
4) Al of the above )

85) @it 1 T 2 B e T Bl |
1) g @ arerE :
2) P § g AW ww aE a A
3) At g A
4) ITOE T

86) The relation between duty (D) in hect./cumec, depth of water { A ) in meters and base pe’rigd B)in

days is given by

Dy 18 2 pB0E
D D
3) A:l'98D ) _ 4 -A:8.64_D

86) =g (D) ® %ﬁmfﬁﬁ%ﬁﬁ'ﬁ_m(g;)ﬁﬁ?ﬁﬁﬁ%ﬁﬁfﬁﬂg@)ﬁﬁﬁﬁ%t |

D D
3) 4. 198D | 4) A 864D
B - B

[ ————

i
i
%
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87) The optimum depth of kor waterin, for wheat crop, is

1) 135cm 2) 17.5¢cm
3) 195¢cm 4) 23.5c¢m
87) W ¥ wEW & 1w HY G H At T ¥
1) 135cm 2) 17.5¢cm
3) 195cm 4y 23.5cm
88) A canal which is aligned at right angles to the contour is called
1) Branch canal 2y Contour c_anai
3) Side slope canal 4) Water shed canal
88) UF T W HZ b wagq AT & HEAN 2
1) @ie a8 2y HY e
3) TEd B AR 4) ww e e
' 89) For diversion of flood water of rivers the type of canal constructed is
1) Canal | : 2) Ridge canal
3) Perennial canal : 4) Inundation canal
89) qﬁm%wmmﬁ%%%mmma&wwmw%
1) & 2) Tt e
3) AREHEl T8 4) TTAGET Ty
90) In a Concrete Canal, Preferential velocity of water is not maintained over the foHowm g
1) 0.5 m/Sec 2y 1.0 m/Sec
+3) . 2.0 m/Sec ' . 4) 2.5 m/Sec :
90)@%@%&%%&%@%%%@3%&%3@@%% l
1) 0.5 m/Sec ; 2) 1.0 m/Sec
3) 2.0 m/Sec 4) 2.5 m/Sec

91) A fully saturated soil is said to be

1)} One phase system

2) Two phase system with soil and air

3) Two phase system with soil and water

4) Three phase system with soil, water and air

10 . &% 23
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1) va gft e & Hyd el w6 W ¥
1) U% s
2y et ol e & |y &1 o
3) fedl oW ol & @iy o oramRn
4) Weey, aHl d g & wr d e

92) Select the correct range of density index

1) O0<ID<1 2) 0<ID<
3) ID>0 4) ID>0
92) we, gEbi $ AR G @ ﬂ’CFI mi
1) 01D s1 2) 0<IP<1
3) ID>0 7 4) 1ID=20 o
93) When the Liquid limit of a soil is less than the plastic limit, then the plasticity index is reported as
1) Negative 2) Zero '
3H 1 4y Non-Plastic (NP)
93) v T el A 57 den weiew W A A E, A andw g A
1) FOUEE | 2 7=
3 1 ’ ‘ 4y TR wifies

4y The property of a soil due to which the loss in shear strength caused by remouldmg can bc reéamed
with the time is known as :-

13 Activity ' ' 2)  Sensitivity
3) Thixotrapy 4) Consistency regain

94) Mma%gm%rmﬁxﬁﬁm%mmwwﬁﬁmw%ww m'ﬂwﬁ"r

¥, dEem ¢ ‘ I

1) ulefE L 2) dfufefad
3y frEd 4) BRFE e

95) Coefficient of curvature of a well graded gravel is _
1) Lessthan 1 2) Lies between land3
3) Lies between 3 and 6 ' 4) Greater than.6

16 - s 24
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95) T At e % T dgm Ui € ¢

D18 &9 2) 137 3% 99
3) 38N 6% 91 4) 6o
96) The correct increasing order of the surface areas of the given soils is
1) Sand, Siit, Colloids, Clay 2) Clay, Silt, Sand, Colloids
'~ 3) Sil, Sand, Colloids, Clay | ~ 4) Sand, Silt, Clay, Colloids
96) fir 1 firedt @) T Al B A AT FA B
1) %@, fowe, ®Ee, = | 2y ¥, fowe, @, e
3) T, w1, #iege, & 4) @, fawe, &, Hons

l . .
N A sand deposit has a porosity of 3 and its specific gravity is 2.5, The critical hydraulic gradient is .
equal fo
1) 10 2) 1.25
3) 1.50 . 4y 0.75
97 . 1 : : ,
)@whﬁm 3 © o amd e g 25 % 1wt siedifos e auee @
1) 1.0 - '2) 125 |
3y 1.50 - 4 075
98) The property of a soil which permits water to percolate through it, is called
1) Capillarity 2) Consolidation
3) Permeability 4) Moisture content
98) war & I8 0T o 9% ovH § | Ut @ e &, ween §
1) Hmma 2) e
3y URIET T S o -

39} Consolidation settlement occurs due o
1) Expulsion of air voids
2y Expulsion of water voids

3) Re adjustment of soil molecules - : :
4) Both (1) and (2)
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99) =gt fFiged T #7 T B
1) =ar Ridaal &1 Fesms
2) ot Rieeral a1 FepE
3y Tedi & syt & g wEE
4y (1) 8 (2) et

100) The initial and final void ratios of a clay sample in a consolidation test are 1.0 and 0.6 respectively. If §
the initial thickness of sample is 3.0 cm then its final thickness Wﬂl be

1) 20cm 2) 24 cm

3) 2.8¢cm ' " 4) 32cm

100) we wéTesTor wiemr F, @ﬁw@ﬁmwmﬁmwvoaﬁzwﬁﬂ WEITAL
% uifig drers 3.0 8491 3, a”ram%aﬁéqrﬁas‘avﬁ ;

1) 20em ' 2) 24 cm
3) 28cm 4) 32cm

101) The failure Plane is direct shear test is ; -

1) Weakest Plane ‘ : 2) Major Principal Plane

3) Vertical Plane 4) Horizontal Plane
101) sy seseror weon  Faween Few el §

1) Hed A G 2) gea auad

3) wE T 4) B e

102) Contact pressure for flexible footing on any type of soil is : -

1) Uniform
2) Varies with maximum at center
3) Varies with maximum edges

4) No specific trend of variation

IOZ)MWW%TMWH%W%%%QMWW%
1) wHrAfEeEre
2) &% W Afewad § aw seea w8
3) Tl w s % A gead w €
4) 9= N EE QAR Gy 98

10 - <% 26
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103) In a standard proctor test, the water contect (W} and maximurm dry density (yd max) are rela 2d as

1) yd max is linearly proportional to W
2) vd max is inversely proportional to W
3) yd max corresponds (o a unique value of W
4) None of above
103) Hrget WIS T | wenet (W) St sfrad g6 99 (yd max) § 99 ¥
1) vdmax, W SHIUR 260 &
2) yd max, W& SYEEATIRI Ee ©
3) yd max, W & et oW & arged ®
4) TmH 4 BE W

104) Local shear failure may occur in : -

1) Very loose soils 2) Loose sand and soft clays
3) Stffclays only 4) Dense sand and stiff clays
104) wriry saEae faswar 2 & | |
D agm e Redd - 2y &R W elr wem R
3) FIw B Fred § | 4) w YA o &S o A
105) Rankine’s theory of earth pressure assumes that the back of the wall is
1) Plane andfrough . 2) Plane and smooth
3) Vertical and rough 4) vertical and smooth
105) ¥ & gor g™ fasia & SR SaR & 9a8 eRi &
1) 9ad AR gEd | 2) gwaw i frdr
T3y waAlr iR gl 4) i dr e

106) In a RC beam of rectangular cross section the percentage of tension steel reinforcement provided is
“0.5 and effective depth is' 50mm. The quantity of steel reinforcement provided such that the section
behaves as under reinforced section (Working stress method) and stress induced m the steel is 140Mpa.
The corresponding stress induced in compression concrete is :
1) 5Mpa 2) 4.8Mpa
3) 4.2Mpa ' : 4) 1.4Mpa-
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197) In a limit state design of a RC beam the desi- nestrength of concrete to be taken as per IS cod.
recommendation is:

1y 041, 2y 04216,
3) 0'45fck 4) 0.48&lc

Where f_ : concrete characteristic strength

108) Which one of the following represents effective width of flange of T-beam ?

DL, an 2 bpiap
12 ! 6 4
3) %+bw+6Df 4 %‘-’—+§w+60},
1093 Maximum allowed shear stress as per code in RC beam of M4(J grade shall be :
1) 2.5Mpa 2) 3.5Mpa
3) 40Mpa 4) 4.5Mpa

110) If welded fabric is used in RC wall having diameter equal to 16mm; the minimum ratio of verucal and
horizontal reinforcements, respectively, to gross concrete area shall be :

1) 0.001 and 0.002 ' 2) 0.0012 and 0.002
3) .0025 and 0002 : 4y 0.0025 and 0.0025
111) Which one of the following is not the correct about the shear reinforcement placing in a flexual
member ?
1y 0.75d for vertical stirrups 2) dforinclined stirrups
3 Maximum spacing 300mm 4) Maximurn spacing 450mm

112) Minimum diameter of a longitudinal reinforcement in a RC column as per IS codal provisions shall be :
1) 16mm 2) 12mm
3) IGmm o 4) £mm

1 13) Which one of the following represenis minimum requirements of remforccment in a RC slab for
deformed bars 7

1) 0.15% 2) 0.12%
3) 0.10% 4) 0.06%

114) For a RC footing ratio of its long side to short side is 1.5. The ratio of reinforcement to be provided ¥

in the central band width to total reinforcement in the short direction shall be ;
I 1.5 2) 1.33
3y 1.25 4) 0.80

10 - «» 28
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115) In a staircase design with open well, where spans partly crossiag at right angles occurs and flights are
embedded into walls for sufficient length. By what unit its effective breadth is to be increased for
design purpose as per IS code

1) 150mm 2y 110mm
3) 75;ﬁm 4) 50mm
116) When drawing in 2D, what axis do you NOT work with ?
1) X 2y Y
3) 7 4) WCS
116) v/ i 2D H 2t &1 &7 o (e aferem o & TRl a qaT
1) T (X) 2) 9% ()
3) W (2) 4) TG W wH (WCS)
117) What is the minimum allowable number of layers in a drawing f
1o 2) s
3) 1 42
117) ey idn & w9 ¥ &9 fhad Agd & anfga?
1y 0 25
3) 1 . ’ a2 |
118) How many snap points does on object have ?
1y 1 2) 4
3) 5 : 4) Depend upon object
118)U% sfigdac # fora &9 Wig< & ©7
11 : 2) 4
3) 5 4) SifgdTe W R & §
119) Objects are rotated around the
1) Bottom of the object 2) Base point
3) Center of the object 4) Origin
119) sifasiae fhas onfave gaa (fice) Ser 27
1) Stadee & 4R 9 2) &9 Uige °
3) FauEe & g vEe d 4) HRSTT 4

29
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120} The origin of a drawin_ is at?

1) 0.0) 2) (1.0)
3) O 4) (L1
120) feredt gigT &1 AT el erer 87

1) 0.0 2) (1L,O)

| 3) O.h) . 4) (1L,1)
P
|
10 - % 30 2




